oo u

28 BAE AT A0 e T, A, B, 02 Tto] B4 b
= veheler.

St 7ol 50 ¥l T a W2l F: (50xA) Y
ad, b AN F 5 gH Bt {(a+b)+ B} A

C
0% ©] 2BE xg Zo] o} g Aol oF . 1—00><x> .

L
>

I
™

g 0 O

L
a
[



o2 oA 541 7|85 Aefsto] el Zlo = £ 227
® axaxb=2ab @ xxyx1l=1xy
® axbx0.1=0.1ab @ xxyx3=xy3

® axbxcx(-1) = -labc



3.

1 7ol 200 LAra] Abat ¢ He) 7HA-e
Lrehd A2

@ 200-a
a 200
Y 500 ©

D 200+a

X, =

@ 200a



4 a=-191, 1129 e Fotolek

a

D =g



to] 225 a, x 9] A

—x2-8x-5° ts

W oa-b+c F

©9

k13
=

@ 3 ® 4 @ 5 ® 6

O 2



Al x? = 6x+ 1 oA x* 9

3

x o tieh o

6.

,a, b, ¢ o Fge

Mg et @

Z

4]

L
__OO

=

@a=1b=-6,c=2

Da=1b=-6,c=1

@ a=1hb=1,c=2

@a=1b=1,c=1

®a=1b=1,c=3



olJ

KA

® x3,y3

@ 3x,x%
® 7,7a

@ —a,-b

@ 2x,-5x



todzt.

S

Sl a2 A5E T

(a+1)+2(2a-3)




9. 2x-5+] |=-3x+4 A1 ghof] Yuke 229

O -x+3 @ -5x+3 ® -5x

@ x-9 ® -5x+9



2
—— -x

-5 oA
o, a+b+c 2 &

X

A
=

L,
__oo

o}

10.

2

af?

_ZF_

o
=

5}
=

otn

c



11. v9=%

ol

Ao] obd 79

@® 4x+2x=3x+5x @ 5x-3=x(x-4)
® 1+243=2x(7T-4) @ 3(x-3)=2(x-2)

® 3x+4-2(x-1)+=x



0

@ x-2

® 3x-—x=2x

@ 2x=x-1

-T7T—-x

® -8-—x

® 3+3x=3(x+1)



4—x+bx=ax+b




14.

AP 2x - 4 = 8 & E7] SI5ke] off <H7]> 9] T4 9] 4
< AHgdlof she 2ol 7198 AlE ALY

[5]

H7]

@ a=bolHa+c=0b+c ot}
©a=bolHa-c=b-c°|th

© a=0>b °|9H ac = bc °]t}.

b

® azbolﬁﬂngolq. (Hc#0)

C

NS @ ©

®06e ®o06 066



o]

=

=2

5x—2=8—x oA FHS -2

il
el
G5




16. e 54 FolA QAR ot Anpule e
o w3t T} et
AP 7L Bet dol g Tatolel,

@ 3x=4-x ] © 4x-2x=x+1]g]
© 1.5x+ 2.5x = 4x [d] @ 5x=-x+2[u

@ 2x-9=-x+8[d ® 8-6x=0 1]

® —4x+3=4x+4[i] © x2-2x-4=01
@ Tx—-5=—6x [o] ® -3x+1=-x+3[n

5 J=X
=%



il
HE
el
X
H_L T




18. HAA Y 57t Y 2] Yz} o2 oft=?

@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2



19. o) A2l 2747} ¢, Aol A2l 247} b, B A2l 2747} a A
AA%E 402 ERR?

®a+b+c @ 100a + 10b + ¢
1 1

1 1 —b+ —

@ a+ 10b + 100c @c+10b+100a

1 1
@ a+T0b+ﬁc



20.

o

[0 o P I

X9 ol o

v

L

193} o

&
[0}

o
AN
B3
3
o)
N
B3

4y o
el
&
o

%

£ 280g

A 20g



zol7} 4 9 Abrhel o] gl

Fotofet.

o] Ao|7} 2a

=
=

ezl Yol



22, -2(—x-3)+ %(2 -x) &

g, g=b 9 GE2?

2
© @

W =

=

Al

At

—

5

[SLTRN

filo



23. A=2x-1,B=-x+7C=-4x-2¢ 1, 2A-B-3CEx &
AFg3E 7R A0 2 LeRp ol

D
=%



24. the AAPY F Ak O shte e,

@ 2x-2=-4 © 12x+1=-13

© Hx+2=1+4x ® bx+6=1

5 L
=%



25.

St ax-4=x-b7} 7t T

ofzt.

E,":a:

Be:r=

4



